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MM – 80 marks

Note – All the questions are compulsory, Paper is divided in four Parts - A, B, C and  D

                                                                            SECTION “A”                                                                                  (1x12 = 12)

Tick the correct answer: 

1- Events which are certain are called..........   event

(a) Sure


(b) Impossible 

(c) Random 

(d) None of these 

2. The root of 7x + 8 = 50 is 

(a) 5


(b) 6


(c) 9


(d) 3 

3. What percent of 70 is 56 ? 

(a) 50%


(b) 80%


(c) 60% 


(d) 70% 
4. Expressed as percentage of 8/25 is ……..

(a) 42% 


(b) 24% 

(c) 32% 


(d) 23%
Fill in the blanks:

5- The mean of 20, 60, 80, 100 and 30 is ........

6. Two sides of a triangle are equal, the triangle is ................

7.  The sum of the interior angles of a triangle is..............   

8. The value of  (23)4 is .....  ..   

State true or false 

9. Additive inverse of -7/15 is 7/15



(
) 

10. The reciprocal of 1 is -1




(
)
11. Vertically opposite angles are equal 



(
)
12.  Perimeter of equilateral  triangle have a side x is 4x

(
)
                                                                             SECTION “B”                                                                   (2x9 = 18)
13. Express each of the following numbers in power notation     (a) 343/512.       (b) -1/128 

14. Subtract the sum of 1/4 and 1/8 from (-9/28)

15. Find the sum of 7a - 4b - 21ab, 28a - 7b, 12b - 11ab and 4a - 6ab

16. If 8 is added to 7 times number the result is 57, find the number?

17. Solve the following equation’ s in balancing method 
 (a) x + 18 = 43      (b) y - 5 = 17 

18. The speed of the train is increased from 70 km per hour to 119 km per hour.  What is the  increase  percentage  of the speed of the train? 

19. Draw the nets of the cuboid and triangular prism

20. Find the perimeter of rectangular towel of length 75 cm and breadth for 25cm
21. Construct a triangle with side of 6 cm, 4 cm and 8 cm.

                                                                         SECTION “C”                                                                (3x10 = 30)

22. Angles of a triangle are (4 x + 7)°, (2x - 17)° and (2x -10),° find all the angles of the triangle.

23. Two complementary angles are in the ratio of 2 : 3. Find their measure.
24. Parth bought a piano for Rs 92,000 and guitar Rs 44,000. Together, he sold them at a loss of 5%, find the selling price.
25. 14 year ago, Piyush was one-third of his present age. What is his present age?
26. Write the equation of the following statement -
(a) Three fourth of Z is 14 
(b) Six times a number P minus 10 gives 45 .
27. The angles of a triangle are in the ratio of 3 : 5 : 10, find the angles.
28. Find the missing side of the figures 
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29.  Draw a line AB, draw another line parallel to AB at a distance of 5 cm from it.
30. Construct a isosceles right angled triangle PQR with ∠Q = 90 degree and PQ is equal to 5 cm.

31. Find the mean and median of 3,15,10,20,16 and 30.

                                                                                SECTION “D”                                                                                 (4x5 = 20)

32.A  garden is 80 metre long and 65 metre broad, a path of 5 metre wide is to be built along its border. find the cost of levelling the path at the rate of 5.50 per metre square. 

33.  Answer the following

(a) 350g is 20% of how many kg? 

(b) 40% of what number is 180?

34. Find the value of  5t2 - 8st + 6s - 2st, when 
(a) t = -1 and s = -2 

(b) t = 0 and s = 1 

35. Observe the bar graph and answer the following questions: 
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(a) Give an appropriate title to the graph 

(b) Which pond has least number of fishes? 

(c) Which pond has highest number of fishes?

(d) Find the total number of fishes in all ponds. 

36. A spinner is of a decagon shape having 1 to 10 marked on it. it is being spinned and a pointer is fixed at one end of it, so that one Spinner stops from spinning, pointer points to something find the probability of getting
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(a) A number greater than 7 


(b) A number less than 11 

(c) A number between 2 and 6 


(d) An odd Number 

